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IEfiz K4 ouT IN x| wr 4| #vb
1 iRa 2 42 44 86 15.6 710.4
2 7 v 2! 40 48 88 16.8 711.2
3 KT &X 43 42 85 13.2 71.8
4 IR e 38 41 79 1.2 71.8
5 /N IEFD 50 46 96 24 72
6 =H & 43 50 93 20.4 12.6
7 HiEF E2 43 43 86 13.2 12.8
8 BN R 48 48 96 22.8 13.2
9 pli - 43 49 02 18 74
10 KH HE 41 48 89 14.4 714.6
11 xR 18 42 41 83 8.4 714.6
12 E[ITREL): 44 44 88 13.2 714.8
13 132 52 BB 44 49 93 18 75
14 thz E [EH] 54 51 105 30 75
15 *H = 48 56 104 28.8 715.2
16 HEBEA 48 42 90 14.4 75.6
17 IR i 52 49 101 25.2 75.8
18 Ri& #tH 49 52 101 25.2 75.8
19 iR FIE 47 41 88 12 16
20 T~ AKX 44 50 94 18 16
21 KT RE] 41 47 88 12 16
22 i &+ 48 52 100 24 16
23 =H |hx 45 48 93 16.8 76.2
24 I~ RF 48 50 98 21.6 76.4
25 ik B3 49 43 92 15.6 76.4
26 Pk XA 54 49 103 26.4 76.6
27 =ZH FHE 50 47 97 20.4 76.6
28 F i&— 47 44 91 14.4 76.6




IEfiz K4 ouT IN VANV S V5 O A 3]
29 i LWDOH 50 47 97 20.4 76.6
30 7KET [l 55 54 109 32.4 716.6
31 KEF I5E 55 47 102 25.2 76.8
32 Bk B3 46 50 96 19.2 76.8
33 AE BB 51 51 102 25.2 76.8
34 #HR = 41 43 84 1.2 76.8
35 K #R 56 46 102 25.2 76.8
36 )| A== 49 46 95 18 17
37 Bt 81 52 48 100 22.8 17.2
38 Sl K08 54 50 104 26.4 17.6
39 FEE = 49 49 98 20.4 17.6
40 HLItE 1IE 52 56 108 30 18
41 ANH #— 49 52 101 22.8 18.2
42 Bl A 47 52 99 20.4 718.6
43 BH HE 50 43 93 14.4 718.6
44 7 N T ave 48 56 104 25.2 718.8
45 Bl E— 46 51 97 18 79
46 UNIIE YN 43 42 85 6 79
47 ik 5% 50 50 100 20.4 79.6
48 A Bt 56 62 118 38.4 79.6
49 BH 61 59 120 40 80
50 KEF (&R 52 45 97 16.8 80.2
51 eE BHE 53 54 107 26.4 80.6
52 RiR E=x 54 52 106 25.2 80.8
53 ¥hZ B 56 95 111 30 81
54 BN EXYF o7 60 117 36 81
55 AN =y 50 56 106 24 82
56 KT #¥F 60 52 112 30 82
57 k4K ZEF 51 52 103 20.4 82.6




IEfiz K4 ouT IN VANV S V5 O A 3]
58 Il IE3E 51 57 108 25.2 82.8
59 =3 E81 51 61 112 28.8 83.2
60 AN o 64 57 121 36 85
61 ZEA BT 59 60 119 33.6 85.4
62 H LLEF #F 59 62 121 34.8 86.2
63 /AR BA 53 61 114 27.6 86.4
64 FikE 2EA 61 65 126 39.6 86.4
65 p N i - 67 66 133 40 93
66 fe& fiiT 67 69 136 40 96




